(=2x* + x> + ax+ b)? O] HAINA oA x3 O] A7 -8 W, a—2b 9]
29

AN o) AR YT o\l F, AT 44T
ol 217} 2744 Lhech,

(—2x3 xb) X 2 + (x* X ax) X 2 = (—-4b + 2a)x?

2a—4b = -8

L a—-2b=-4




2.

(1+2x—3x2 +4x% — 5x* + 6x° + 7x5)2 o] ZA7jAlof|A] &3 o] Al4=E=2

® 0 @ 2 @2 @4 ©G)u




(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
o Ag?

® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3




4. a=2004, b=2001% W, a® - 3a®b + 3ab? - b* 2] FH-2?

@® 21 @ 23 ® 25 @)27 ® 29

“(a-b)®=3>=27




5.

(10° + 2)7 €] 2} A2l ] 5] Fg Foroder,

@ 15 @18 ® 21 @ 26

B

A& A7Nskd
1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18




6.

99 x 101 x (1002 4 100 4 1) x (1002 - 100 4 1) = AAF5}H?

@1006—1 @ 100° +1 ® 100° -1
@ 100 41 ®1

S5
100 = a 2 |3 517
(F4) =(@-1)(a+1)(a® +a+1)(a®-a+1)
=(a*-1) (a* +1)




7.

A (x+1)(x+3)(x+5)(x+7) + a7} o] xprheF2] o] £

HE=5 a9 gk Astolt

>

> Hehl 16

~&B

(x+1)(x+3)(x+5)(x+7)+a

=(x+1)(x+7)(x+3)(x+5)+a

=(x2+8x+7)(x>+8x+15) +a

XP+8x=A2=°H

(EF=A) =(A+T7)(A+15)+a
=A%+ 22A+105 +a
=(A+11)2-16+a

whetA], g = 16 Y o O]2HA] X2 4 8x + 11 9] SHA|FA] o] Ht,




@ x-1 @ x-2

The 5 ThAl ol -5 445 Q1R @ o, e 9147} obd
Kok

@x_g @ x+1 ® x+2

xt=5x2+4=(x%-1)(x%>-4)
=(x+1)x-D(x+2)(x-2)
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(2-x+3)(x-2)(x+1)
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10. T4 £ % (x-2) 2 thmho] 52 0(v), ol A% Reletn @
o, ohe % £(x) 8 3x— 22 e gl wlo] £} Ay

@ Q(x), R @ 3Q(x), R ® Q(x), 3R
@) 1000, R ® 0(x). %R

_ (3x—2)%Q(x) R

olmg Fahs F7} hulAE
%1 2000 YHA: R




11.

22 TFFA] 22+ 1+ (x+1)270] %+ x+ 1 2 Lol E o] R 2] g1
Sh= A4 ng Fohe Aol ( )oll o2 45 At =

AT AL

w7t FFA] x? + x+ 1 = 0% FHEoh= Zol2hal ohH o? +
w+1=0
LW w#l
(i)n=3k(k=0,1,2,---) o]
W1+ (w+1)"=(Q)#
(i) n=3k+1(k=0,12--)o
"+ 14+ (w+1)"=(0)
(iit) n = 3k + 2(k = 0,1,2,---) ©] &
W+ 1+ (w+1)=0
wrabA (1), (ii), (i) 1A FoHe ne (© ) ol

@ 1,0,3k @ 2,1,3k+1 ® 3,0,3k + 2

@3, 0, 3k ® 2,1,3k
B

(i)n=3keld
W+ 1+ (w+1)>
= w® +1 + (w+ 1)
= % 4+ 1 + (—w?)%
= (%)% + 1+ (w?)%
=1+1+1(w &*=1)=(3)#0
(i) n=3k+1°]%
0"+ 1+ (w0+1)>
=w6k+2+1+(w+1)ﬁk+2
=% w? + 14 (-w?)5% +2
= w? + 1+ (-0*)%(-w?)?
=w’+1+w0=(0)
(iii) n=3k+2°]¥
" +1+(w+1)"=0
oHERA (1), (i), (i) ol A 7+8h= n2 (3k) o1 H.




12, 43tel B4 f() 7 £(0) = 0, 1) = L, f(2) =

fla) = £ & WEAL W, £(5) 2 S FoHE?

5} 2
@ o0 @ 1 (36 @Dg

[SCRN )

. f(3)

N | =

—
S
+
—_

~—

[MIBENPEN
S

&
I
%%fg\
—|—\_/
-
S—

-4, g(-1) = 19|22 @] A
g(-1) =-(5x4x3x2x1)a=1
1
(5x4x3x2x1)
g(x) = (x+1)f(x) - x

1
:_(5><4><3><2><1)x

(5x4x3x2x1)

g(5):6f(5)_5:_(5x4><3><2><1) =1

Sooa=—

(x=1)(x=2)(x=3)(x—4)

ax(x=1)(x=2)(x=3)(x - 4)(a #0) O




13. ab(a—-b) + be(b—c) + ca(c — a)= AF2olctH?

@—(a—b)(b—c)(c—a) @ -(a+b+c)la-b-c)
® —(a+b)(b+c)(c+a) @ (a+b)(b+c)(c+a)
® (a=b)(b-c)(c—a)

~&B

A7k aol Hit WA= ATt &, Q=3
ab(a —b) + be(b - c) + ca(c — a)

s

.

= (b-c)a® - (b*> - c?)a+be(b-c)
=(b-c)a®-(b+c)(b-c)a+be(b-c)
= (b-c){a® - (b+ c)a + bc}

= (b-c)la=b)(a=c)
=—(a-Db)(b-c)(c—a)




14.

a’*b*(a - b) + b>c?(b - c) + c*a*(c — a)

% <147} obd AL

@ a-b @ b-c ® c-a
@a+b+c ® ab+ bc + ca

|
re
»
M
b
o
2
o
E=)
i
jille

B

Skl

2447 2 27t e Z2ke] dish A 2tk

L (BA]) = a®p? - a®BP + b3 - b2 4 cBa? - %ab
b? — c*)a® — (b - *)a® + b*c* (b - ¢)

= {

=b-c){(b+c)a® —(b2+bc+c )a? + b*c?)
= (b-0){(c? = a®)b? - a*(c — a)b - a*c(c - a)}
= (b-c)(c-a){(c+a)b* - a*b - a’c}

= (b-c)(c-a){(b*-a*)c+ab(b-a)}

=

b-c)(c=-a)(b-a)l(b+a)c+ab)
—(a=b)(b-c)(c—a)(ab+ bc + ca)
Web G471 ohd 2 @],

£} e ALY B BAAOIE ol & Bl thstel 42




15. o2 B7] F ab(b - a) + ac(c — a) + be(2a — b - ¢) &) A5 A
RE 12H?

filo

@ a-> © b+c © a-c
®6 @ © ® 9,©
@ ©,© ®a, 0.6

B

ab(b - a) + ac(c —a) + bc(2a—b - c)

= ab? — a®b + ac® - a*c + 2abc — b*c — bc?
= —(b+c)a® + (b + 2bc + c?)a — be(b + ¢)
=—(b+c){a® - (b+c)a+ bc}
=—(b+c)(a=b)(a=c)
=(a=b)(b+c)(c-a)




